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MEAR

1 E/BE=36.7437 =5/
1B E/#E=0.0672 Wi/,\Hi=4.4799 NF/&
138 E=0.027215 ,\§=0.0267857 KM[=0.03 45

ANESEARE

INEFIR=00 lbushel BE=XE =60 Ibs &%
FXK , BRMNEZDO lbushel SEXE =56 lbs &
#ZE0O 0 lbushel E=E =40 lbs &
ANE SRS

INEFIA=Z0 O 1 bushels &XE = 0.027216 If

1 0§ = 36.7437 B5XE
K, SRFEEDO 1 bushels BXE = 0.0254 I
10 =39.3683 ®HHE
FZE0O0 1 bushels 5B = 0.0172
10§ =58.0164 BHXE
1 M = 2204.622 £ = 1,000 F55 = 22.046 3538 = 10 quintals M8

RS -

1 square inch 3 =6.45 sq.centimetres E5EXk

1 square foot EFHER =144 sq.in /55~ =9.29 sq.decimetres 553K
1 square yard 518=9 sq.ft. JEHFER =0.836 sq.metre 5K

1 acre TE=4840 sq.yd.JEH58=0.405 hectare Al

1 square mile /53 =640 acres E =259 hectares 2R

FEIRE

INEE: 1 bushels per acre B H/ZE = 0.6725quintals per hectare N8/
FKEZE: 1 bushels per acre EZE/ZE = 0.6277quintals per hectare 238/,
#&Z:  1bushels per acre BT E/358 = 0.4247quintals per hectare 238/

SEHHRE

20 pennyweights KBEEEF =1 ounce #T]

12 ounce O #&)= llbs £

1 troy ounce 0 £fHl#&5] = 31.103 grams 5T

1 troy ounce O £#H#&5] = 0.031103 kilogram F5¢
1 troy pound O £##% = 0.37224 kilogram F52

1 kilogram O F353=32.1507 troy ounce &1&#I=E]

1 tonne O [§#=32151 troy ounces £&#|ZRE]

15557177591



EHESHMIRE :

1 grain #%<$=0.065 gram 33

1 dram ¥J==1.772 grams 3%

1 ounce #F&]=16 drams FJ==28.35 grams 53

1 pound ##=16 ounces #&&]=7000 grains & =0.4536 kilogram F33
1 stone ZA=14 pounds #%=6.35 kilograms F5g

1 quarter P9 z—3m8=2 stones ZfH =12.70 kilograms F53
1 hundredweight (British)Z&f8=112 lbs %%

1 hundredweight (us)3£#8=100 lbs &

1 hundredweight (British)Z&t8 =50.80 kilograms F5%

1 hundredweight (us)35$8=45.357 kilograms F5%

1 stort ton FEMH(3EM)=2000 pounds % =0.907 tonne ANE

1 (long) ton KMH(ZEM) =20 hundredweight 8 =1.016 tonnes A{
KB RHEE

1000 grams 52=1 kilogram F3%

100 kilogram F52=1 quintal 8

1 tonne §=1,000kilograms F52 =10 quintals A8

1 kilogram F55=2.2046lbs %=

1 quintal A#8=220.46lbs =

1 tonne M= 2204.6 Ibs &

1 tonne f= 1.102 short tons S (ZEME)

1 tonne= 0.9842 long tons < (&)

BERAHRE

Celsius BEE (C) O Fahrenheit £EE (F)
C=5/9(F-32)00 F=9XC/5+ 32

15557177591



